e

Le)
A3 [0
To [NR

H N
T

Il
o
N

N




2. S0L 509 2] gLt o] Ee] 30% © B2 ATt & L
£ o olof 2Ee] Bo 715 AAFU

O 24L @ 30L ® 42L @ 50L @56L

80L E°l9 5l 30% & ES YL EE 715 HeHH
70% °] E& ¢ gojof

70
80X —— = 56(L
X100 — *8(L)




tgo] 2pA)6h= Hl& 1 100 - 52 = 48( %),

1}G]
o5y} A o] H]-89] 2} 52 — 48 = 4( %),
Hl 0] 2 4% 8t 4:0] 2 929} Zom g Hl& 1%0] Y

= YL 92 + 4 = 23(F) YU th
w2bA] AA| SHY 45 23 x 100 = 2300(F) YUk,

L)




i oo JH gy A

S}
ol

F Al

o
4%

2 574

2 HEAL,

1=]
s

3145|167
4171619 |7

o

66 %

ul
KO

>

33(77]) Yyt
100 = 66( %)

A A715E 5412410+ 10 + 13 = 50(FH7]) o]

Yt A7 44+ 7+64+9+7

R <o

i,
50

)x 100

15
%)

66 %= 0.66= 66 %




& uhe 13 910] B7IHRE Aok AR Ro] L B
o BE Fo] steta] HAES Astgsuich HAE

Aoj7 W BT @ ALY




W2 :3=12:[]
2x[ |=12x3
[ ]=36+2=18
2018 : 15 = [ |
15x][ ]=18x5

[ ]=90+15=6

A

5 of| A




29} 7Hol7k A 124702 tire] ZHEU T §27t Hgol
nrt NS o gl FHATHY, $27t 7h Abg 2ol gt 7hdo) 7}
710 Abe 220 ¥]8 71 e A1) u]m YehfAl 2.

O] At 42)= (124 + 8) + 2 = 66 (7N)
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